|. There are 62 books in a crate and there are 4 crates. How many

books are there in total?

2. Tesco cook Lt5 carrot cakes and each cake contains 3 eggs. They also
cook 13 chocolate cakes which contain 2 eggs. How many eggs do Tesco

uses

3. Vic is putting in an order for pencils. There are 3 classes who need 1/
pencils each. When they arrive 3 pencils are broken. How many

pencLls aren’t broken?

L. M Webster is counting the house points. Beech have 18 lots of 5 and
Oak have 2| lots of 5. Who wins and by how many points did they

wins

5. Amy is buying dishwasher tablets for 3 weeks. She uses her dishwasher
3 times a dagl How many tablets should she buy’



